11.6 HW Solutions

1 a. On the same set of axes, sketch three parabolas. Sketch one
that has no zeros and label it A. Sketch a second one that has
two zeros and label it B. Sketch a third one that has exactly one
zero and label it C.

b. Is it possible to sketch a parabola with more than two zeros? If

so, make a sketch of it. Mt iblC/

2. Complete the area model to the right 7
to show the factors of the trinomial il ?
1% + 8x + 12. What are the factors?
N

(M) x+2)

| X¥rlb |n

Factor the polynomial. Use an area model if

needed.
3. 22 +5¢ 4, m?+ 12m+ 20
5. > —17y— 18 6. 2x° — 14x + 20

3) t(2tt%)  4) (mtloXmt2)
5) (5—\€)(UH\ b) 2(X*-7x+1D)
2(X-2)(X-5)

Solve the equation hf"graphing.Jistimate the solution if necessary.

7. 24+4x—-21=0 8. 9%2=144 9, 442 — 94 = 25

=%  k=xy d=-1v
Y= % 0\: 284

Solve the equation by

10. 32 —5x=0 1. 20+ 7n+3=0 12. >+ 16 =8y

X(35)=0  )(2nt1In+3)=0  y*gytlp=0
X=0) 33X 5=0 ) Zntl=0 nt+3=0 (U-,_f)(j,q_)zo
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13. Knowing the roots of a quadratic equation can help you

factor the equation. For example, if the roots to the equation

¥2 — 7x+ 10 =0 are 2 and 5, then x = 2 or x = 5. So the factors

must be (x — 2) and (x — 5).You can check your factors by

multiplying (x — 2) by (x — 5). The product 22 — 7x + 10

confirms your factors.

a. The roots to the equation x> — 3x — 4 = 0 are 4 and —1. Use
this information to factor x> — 3x — 4,

b. The roots to the equation #* + 8x + 12 = O are —6 and —2. Use
this information to factor 2% + 8x + 12.

a) X4 yx=-I b) X=-lb x=-2
X-4=0 X+1=0 Xte=D X¥2=0
\x-DOoeD =0] [k YD) =0 |

14. A flare is launched from a life raft. The function h = 192t — 1682
where h represents the height of the flare in feet after f seconds,
can be used to model the path of the flare.

a. When is the flare 512 feet above the raft? Q‘Ftﬁ 4 L‘} and % SCC,DY\O‘, S
b. How long is the flare in the air? ag_",er |2 scoondg

a) 5\2=\92t bt ) O= 142t —lbt?
S 2
O =-\Lbt* +192¢ B2 0= -lbr” 192t

s L2 0= -lbt (£t —12)
0= -l Lt*-126+32) feo to

0= -6 (£-9)(t+) The flare (£ on ‘l’he,@’D\Ahd
Pl o e ardd T eees.

15. Aheavy brick is tossed into the air from a height of 48 feet. The
function h = =162 + 32t + 48 can be used to model the height h
of the brick after t seconds. How long will it take for the brick to
hit the ground?

0= —lbt* + 32+ 18 ek it
0= —lb(tZ-2t —-3) The VVik W i
0= -lblLt -3) v +!) The 6n>umo\ n B seconds .

+=3 t}{

16. Solve (x + 2)(x + 8) = 40 by factoring.

%% oyl =40
% +lox - 24=0
( X +12)(x-2)=0

= &2
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17. Some quadratic equations can be solved by taking the square root
of each side of the equation. For example,

Original equation 32 =36

Divide both sides by 3. =12

Take the square root of each side. t= V12

Simplify. t=+2V3
Approximate the roots. f=35andf= —3.5

a. Solve 82 — 32 =0 forx.
b. Solve (x + 4)> = 7 for x. Leave your answer in radical form.

a) 2x*F-32=0 o) (x1d) =3
e¥*=32 wid = ENF
xZ=1
Ix=%2\
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